DNA Replication
Why Must a Cell Replicate?
Every time a cell divides it must first make a copy of it’s chromosomes so that every new cell has an identical replica of genetic information.  This is true for cell division and gamete formation.

DNA is copied in a process called _________.  Without replication, species could not survive and individuals could not successfully grow and reproduce.

How DNA Replicates

DNA is composed of ____ strands, each containing a sequence of nucleotides, where Adenine pairs with Thymine and Guanine pairs with Cytosine.  Therefore if you knew the order of bases on one strand, you could predict the sequence of bases on one strand.  During replication, each strand serves as a pattern to make a new DNA molecule.
DNA replication begins as an enzyme breaks the hydrogen bonds between nitrogen bases that hold the two strands together, unzipping the DNA molecule.  
As the DNA continues to unzip, free nucleotides from the surrounding the nucleus bond to the single strands by base _______, while another enzyme bonds these new nucleotides into a chain.  This process continues until the entire molecule has been unzipped and replicated.
Therefore each new strand is a complement of one of the original, or parent strands.  The result is the formation of ___ DNA molecules, each of which is identical to the original DNA molecule.

When all the DNA in all the chromosomes of the cell has been copied by replication, there are two copies of the organism’s ________ information.
